NBR=DNR—IU FERERARER

| B N N B &N _§ _§ _§B _§B _§ § N _§B _§N _§B _§B _§N B B _§B B _§B N _§B _§B _§N _§N 3

OKFH—)V(1.1058) CF) | N\
. g i = R Ry %8 | \
(9:00~12:00) (13:00~17:00) (18:00~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00) I \
o 78 28,600 41,900 53,400 70,500 95,300 123,900 I \\
BRA
+o% 33,400 49,000 62,400 82,400 111,400 144,800 I \
T8 20,020 29,330 37,380 49,350 66,710 86,730 1 ) |
1 BEREDHDFIA I
+o% 23,380 34,300 43,680 57,680 77,980 101,360 I
O XF—IER =D} I I
&5 Tl Fig G RIS TR XS] |
(9:00~12:00) (13:00~17:00) (18:00~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00) I
KEA 1,000 1,300 1,300 2,300 2,600 3,600 : I
%=B 800 1,100 1,100 1,900 2,200 3,000 1 I
EC 700 900 900 1,600 1,800 2,500 I |
=ED 1,200 1,600 1,600 2,800 3,200 4,400 I |
e 1,600 2,100 2,100 3,700 4,200 5,800 I i
N 1,500 2,000 2,000 3,500 4,000 5,500 I S i
@ = 1L(296M) (r3) | / J N , /é\ @ Stl, / |\ — ) [
. o g & FRIFE FERY =8 I |
(9:00~12:00) (13:00~17:00) (18:00~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00) I
e e e e -
78 6,300 9,200 11,700 15,500 20,900 27,200 i i
+8%) 9,500 14,000 17,800 23,500 31,800 41,300 : ODAWARA I
ONF—IVEE (3 I |
) o g & FRIFE FERY =8 --
== (9:00~12:00) (13:00~17:00) (18:00~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00) I : S A N N o M A R U I
=G 500 700 700 1,200 1,400 1,900 I ‘ HALL i
SEH 500 600 600 1,100 1,200 1,700 1 i i
e 1,000 1,300 1,300 2,300 2,600 3,600 I :
- 9 -
o254 (/) I ’; A & ;’__‘B‘ -.3'71-‘ M23 /\ i
N i = & THTE EE =8 | E’x NG FX i
(9:00~12:00) (13:00~17:00) (18:00~22:00) (9:00~17:00) (13:00~22:00) (9:00~22:00) I N I
25997 3,400 4,500 4,700 7,900 9,200 12,600 1 I
oWEE (M) OREE G i |
lzﬁ (QZOOCEEUZIOO) “ 31031%?5100) “ 5133%187130) “ 810%'%3?1 :00) (920()$'F2A1 :00) Bﬁ 18 (QOONZZOO) I I
wE=A 900 600 600 900 3,000 s = 12,600 I |
|
gE=s 900 600 600 900 3,000 8] 16,900 I I
gE=C 1,200 800 800 1,200 4,000 e = 3,200 | :
obJ
o (ZED1/4I2DE)
& X+5')—[EE =D (18:0?)223282200) (9:00%5282:00) s 1B#% 4,300 : I
&5 78/ (8B89:00~2200) 1,200 3,300 |
MREE - £ 5 —EBTOABROIR - BRESE i
10 8,300 1,200 3,300 TEF AL ) ) I I
KIS « MEICED, 1SS FOMFHRE LSS
2 10,500 1,600 4,400 CIE NBRUTEDDETIEREERDET, I I
e - HEAS I I
SKF—Jy-ihch—Jb-RETA R KK KEBUSOBE. YHETT I i
1~5008 AR X 125/100 U=l - 0 - BURFIFS EA@AN @BRA) X 70/100 I I
501~1,000H BEARBEAB X 150/100 I :
o - JON W (o
w gg 10 1~2 0008 A % 200/ 100 ST (BFA20~7BEIHR) EAREN (2B X 50/100 \\ !
!
D
A% ~ " \
@ZZ b 2,001~3,0004 BEARBEAB X 250/100 PO R P \ I
3,001~5,0003 BEABEAR X 300/100 BRRFTOHZTDOEE BEABEAR X 350/100 \\ I
, ~ 2 350/100 —_ I
5,001/ EABAR X 350/ SREE \\ I
IBEICHS BRI (B R ABHEERINT 35S NN N N N N N N NN NN N N N N N M M N
BROBASE RSB X 120/100 RU BRERES SES EARAN X 350/100 ver.1.2




INBR=DAR—IU

UmaximfEmNER

AN R—/LEERR

¢ )N\R—)LEERSR

XU FRBEREIIEROBREANSRENZUET

S AR
#as (M L] (M
£:4:3 X5 | Hfi =R £1:3 Rs | Hfi ERH
SEESDILEY Lh—EYTSA s =} 2,500
THEI (SIESHCBHEID 13 27100 |IR=5T )L 18 500
EELE0A. BFE0A S L 131 800
BREETY A My S5~ 500w =) 300
o (AEEIEHAED 13 14900 | ZRy RS b 1kw 8 400
FEAMOR, fra0% 2Ry RS b 1.5kw 18 500
SEESTEY B TUTIAHIRRNY BS54 =} 400
TE16K (SRS 1= 7400]  [/N=51 F 500w 18 300
EEL20A, BF20A =S - 1k 129 | 14 400
FRES (KR —JL) 150 9,000 Iz DORYYVEY 15 1,500
PMEG VR —)L) 15 6,500 BIDID - =} 1,300
SEEXT =} 100 =5—R—=)b = 1,000
T8 & 300| |TvhkSqk 131 600
PITSPT 1X5D B8 100 LEDSTH =} 300
U&DEE - iR « BDFS1IXN) 13X 1,500 Lh—BEVTSA+ 186 1,000
SPDE 1K 300 |N\OZYEVRRY RSA - 18 700
NUTN— -+ 25V R 12 200
KA 18 500 5B ("M
fBHAE 1@ 300 2 [E% 5 Hify ER#
REEOE 18 200 CREYI N =} 800
S EEAERE 18 200 VTIY=NTD 186 1,200
e 18 200 INDIF =10 186 800
HECA 18 250 DAVPLUANADA (h—)URIAD 16 3,000
BENRRED T B8 500 DA PLRAVAUB  (BRBHAPARIME) 18 1,600
EFA70YzO5—A 12000Lm =} 5,000 YIIFH— 16 500
Er7270Yxz0%9—B 3000Lm =) 1,000 CDILv— 1X5D 186 1,000
RDJ—-rB(BIE 18 500 SCEREEBA (CD - SD¥%) 18 1,000
SREEBNEY 77 16 800
iz (A IND—RZE-H— 16 1,000
£4:3 X5 | Hfi =R 2AE=H— 18 800
EP /) (REA1VDTA) D274 186 10,000 BRBEIEP AYRATLAA (iR 16 2,000
EP/ (RE1VDx+) D-274(8) =% 168 7,000 BRBEBEPAYRTAB ()R =} 1,000
£/ (P¥/\) CFII 16 5,000
HARRODEIFRRENIC )
R (M
£-1:3 [E4 ) By ERH ....
D90 D1 14 20 T
F v XY —/RIV (&) 18 16 1,500
BTG EE 16 700

#a (m #a m
2 X% Bify fERH 2¥ =% Bifi =R
BEFES 14 3,000 BEPES 120 1,000
EEAN 15 1,000 SEAN 1= 500
BESE =} 300 BESS =) 150
BEEREES =) 200 EEEREES ) 100
Y RSNZEF 11 100 IV RSN2EF NN 150 50
BE =) 700 Ba ) 600
15
INVFN—Ry + 1= 1,000 INVFN—Ry k 15 600
BETREES = 100 BETRERS =] 100
BEERABETF =} 100 BETRST =) 100
mwa 138 1,500 IREL =) 350
HNE = 200 Y (A
IaEL =) 350 & Ea | B e
ke (F) fgf-j%fﬁav«am D1 PL2X28T) 1% = 4,000
2% X9 | B € IERIEB (51 FIv VA IX2BD) 15 3,000
BERBB (T TIvIVAIX2ED) 1xey | i 5,000 & =% Bify ERH
ZOU—=YA Ny DORBRER BB 118 2,500 AN DY FADYY— %) 15 17,000
=RDODEBE 1= 2,000 weEN Dty B EEERS) 12 8,800
.y m I -EVRARY 51 1XD =} 1,000
2% X% | B fEmE PyIN—RUVIY RSA 151 700
AN DY FAQVY— ) 15 30,000 OPRUYY RS+ 151 700
N DY B GEERZ) 12 24,400 RE ()
Y —-EYRY RS54 1X5 =) 2,000 2% X5 | M fEm#
PyN—RUVIY RSk 151 700 5B/ NRIL =) 4,000
OPRUYY RSk 151 700 LEDRRy b5+ k 18 18 200
DOR/ RV 15 500
L DY AR
E 3 (A O FB=A BEfRR
2 X% Bify =A% iz (m
E7 (A1) RX-1 1X5 =) 1,500 2¥ X% By =R
EPJ) R=BYRILI7=) PyTS1k |[1XKD 186 1,500
O FRB=EC Bk
J s (A
2# =% By fEAH
DA ) =) 250
FH-PUT 1X%D =) 250
J N=RAPVT 186 250
iz ()
2¥ X5 By ER#
VYU — =) 250
VVeY AU —[fER 1IXD | 1= 100
RS A 13 500




